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There are several red and several white boxes on the table, each of these boxes contains at
least one ball. A positive integer number not exceeding 1111 is written on each of these balls.

† Any two boxes contain different number of balls.

†† No box contains two balls with the same number.

††† For each 1 ≤ i ≤ 1111 there is at most one red box containing ball number i.

†††† For each 1 ≤ i ≤ 1111 there is at most one white box containing ball number i.

††††† For any two balls with numbers i and j, where 1 ≤ i ≤ 1111, 1 ≤ j ≤ 1111 and i 6= j
there is at most one box containing these two balls.

Find the maximal possible number of boxes on the table.


